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QUESTION 1

Which statement about a server parameter file (SPFILE) is false? 

A. An SPFILE is a binary file that cannot be edited by using a text editor. 

B. You can create an SPFILE from an existing text initialization parameter file or from memory. 

C. You can use the SHOW PARAMETERS command to display the values of initialization parameters in an SPFILE. 

D. The instance first searches for an SPFILE named spfileoRACLE_SID.ora and, if this is not found. It searches for
spfile.ora. 

Correct Answer: D 

Not A, not B: SPFILE is a text file that can be created from a file or from scratch. 

Not C: This shows database was started by spfile 

SQL> show parameter spfile; 

NAME TYPE VALUE 

---- ---- ---------------------------------------------------------- spfile string /root/apps/oracle/10g/dbs/ 

spfile.ora No values returned means its started by pfile. 

 

QUESTION 2

Examine the command: sqlplus /nolog 

In which scenario would this command execute successfully? 

A. only from the server, if the database instance is not up 

B. from either a client or server, even if the database instance is not up 

C. from either a client or server, only if the database instance is up, and the command connects the session to the
instance 

D. from either a client or server, only if the database instance is up, but the command does not connect the session to
the instance 

Correct Answer: B 

 

 

QUESTION 3

To revoke unnecessary and unused privileges, you can use Privilege Analysis. Which sequence should 
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you follow? 

1 -Start the analysis. 

2 - Set up the analysis policy type (database, role, context). 

3 - Generate the results. 

4 -View the results in DBA_USED_PRIVSand DBA_UNUSED_PRJVS. 

5 - Stop the analysis. 

A. 1, 2, 3, 4, 5 

B. 2, 1, 5, 3, 4 

C. 5, 1, 2, 3, 4 

D. 2, 3, I, 5, 4 

E. 1, 2, 4, 5, 2 

Correct Answer: A 

 

 

QUESTION 4

Which three statements about Automatic Database Diagnostic Monitor (ADDM) are true? 

A. It requires the database to be open. 

B. It analyzes the performance of specified objects. 

C. It implements all recommendations automatically. 

D. It recommends solutions and quantifies expected benefits. 

E. It retains snapshots in the SYSAUX tablespace until the database is restarted. 

F. It analyzes the snapshots stored in the Automatic Workload Repository (AWR). 

Correct Answer: BDF 

Reference: http://docs.oracle.com/cd/B19306_01/server.102/b14211/diagnsis.htm 

 

QUESTION 5

Which statement about Storage Snapshot Optimization is correct? 

A. It enables you to use third-party technologies to take a storage snapshot of your database without putting the
database in BACKUP mode. You can then use the snapshot to recover all or part of the database. 
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B. It enables you to use RMAN to take a storage snapshot of your database. The database must be in BACKUP mode.
You can then use the snapshot to recover all or part of the database. 

C. It enables you to use RMAN to take a storage snapshot of your database. The database doesn\\'t have to be in
BACKUP mode. You can then use the snapshot to recover all or part of the database. 

D. It enables you to use third-party technologies to take a storage snapshot of your database. The database must be in
BACKUP mode. You can then use the snapshot to recover all or part of the database. 

Correct Answer: A 

Reference: http://docs.oracle.com/cd/E16655_01/backup.121/e17630/release_changes.htm#BRADV276 (new features,
third bullet) 
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